Rattviks BS

Siljansringen del 31 2021-02-11

Partavling, 9 bord, 18 par. Antal brickor: 24. Medel: 192.0.
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Plac Par Poang % Namn MID Klubb
1 3 235.6 61.34 Ove Vesterberg - Gunilla Westerberg 62998 63642 Kalmarsunds BK - Mora BK
2 5 234.1 60.96 Mats Hall - Tony Hakansson 148 66711 Borléange BK - LudvikaBygdens BK
3 13 224.1 58.36 Goran Lidgren - Stefan Olausson 10066 49941 Boras BA - Borlange BK
4 18 215.7  56.17 Lisbet Mattsson - Gen Gustafsson 57723 38581 Borlange BK
5 17 208.3 54.23  Conny Lindquist - Rolf Westling 14139 2081  Raéttviks BS - BK S:t Erik
6 10 206.5 53.78 Christer Swedhs - Staffan Mller 65316 26337 Insjons BK
7 2 205.9 53.61 Stig Johansson - Ake Lindén 78428 67337 Rattviks BS
8 4 197.6 51.46 Karin Samuelsson - Barbro Mickols 58810 29420 Rattviks BS
9 12 193.8 50.47 Ingegerd Lindkvist - Ylva Zackrisson 61119 29423 Rattviks BS
10 15 191.9  49.97 Kjell Lundqvist - Kersti Belin B 19342 42401 Insjons BK
11 11 182.3  47.48  Sven-Erik Emanuelsson - Bibbi Osth 10424 41943 Rattviks BS
12 1 179.0 46.61 Agneta Lindhé - Anders Tideback 62350 66553 Insjons BK - Rattviks BS
13 16 177.6  46.26 Borje Hjelm - Evert Hasselback 67930 67933 Rattviks BS
14 6 173.3  45.14 Rogert Deiwall - Anita Solin 23284 86656 BK Dalom - Rattviks BS
15 9 170.7  44.44  Britt-Marie Gallon - Joyce Fahlstad 5452 93477 Malungs BK - Falu BK
16 7 159.0 4140 Birgitta Forsell Nasman - Lars Snibb 93503 27843 Insjons BK
17 8 156.8  40.84 Asa Eriksson - UIf Wilkenson 64870 36123 Rattviks BS
18 14 143.9 37.48  Erik Franzén - Peter Johansson 76 245 Hedemora BS - Borlange BK
1 & Kn97 Basta kontrakt 2 4« ED642 Basta kontrakt 3 43 Basta kontrakt
Nord v Kn54 2NT O =-120 Ost vKn3 44 S =130 Syd v EK5 5NT S =460
Ingen + D63 NS + E6 ov + EKD964
#Kn852 & ¢ v & NT #ED107 & ¢ v & NT »E87 & ¢ v & NT
4 E832 4 KD65 N6 6 655 4 K5 4 Kn1098 N 105 5 8 8 4DKn9 107642 N 11119 8 11
vEK7 vD92 S 66 655 vEK42 v10986 S 105 5 8 8 vD764 vKnl09 S 11119 8 11
4987 #K52 0777 838 ¢ KKn42 ¢ D1087 038755 41087 ¢32 022442
#1096 D73 V66687 #Kn94 &5 V38755 #DKn6 #K42 V22442
104 473 & EK85
v 10863 vD75 v 832
+ EKn104 4953 ¢ Kn5
*EK4 *K8632 10953
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
17 18 44 O-2 *K 100 160 00| 7 8 24DN= &5 670 16.0 00| 5 16 3NN+3 46 490 140 2.0
15 16 1¢ S-1 vA 50 140 20|11 12 24 N+1 &5 140 130 3.0|13 8 3NS+3 v4 490 140 2.0
13 14 24 O= v6 -110 12.0 4.0|17 18 24 N+1 vT 140 130 30|14 6 3NN+3 vJ 490 140 2.0
9 10 INV+1 v4 -120 90 7.0 5 6 44S= vK 130 100 6.0| 9 18 3NN+2 a2 460 9.0 7.0
11 12 INV+1 &2 -120 90 70| 1 2 24 N= & 110 6.0 10.0|15 2 3NN+2 %J 460 90 7.0
1 2 3aV= +3 -140 30 13.0| 3 4 24 N= *5 110 6.0 10.0| 7 10 2¢ N+3 &2 150 6.0 10.0
3 4 340-= *A -140 3.0 13.0(13 14 24 N+1 T 110 6.0 100 1 4 24 N+2 46 130 4.0 12.0
5 6 24 O+1 &A -140 3.0 13.0(15 16 24 N-1 &5 -100 20 14.0|17 12 64 N-1 »2 -50 2.0 14.0
7 8 3aV= *5 -140 3.0 13.0| 9 10 3v V= ¢A -140 00 16011 3 64 S-2 ] -100 0.0 16.0
4 452 Bésta kontrakt 5 «Knl0 Bésta kontrakt 6 « KD4 Bésta kontrakt
Vast v D8652 INT V =-2220 Nord vE1094 INT O =-90 Ost v KKn63 3NT S =400
Alla .7 NS ¢+ E6 ov +84
#109863 & ¢ v & NT #D10865 & ¢ v & NT #9742 & ¢ v & NT
w7 4EKKN10964 N 6 0 6 1 O 4 K2 4 D763 N667 76 4 Kn98 4762 N9 6799
v 109 v E43 S6 0610 vKDKn8 v65 S6 6776 vD72 v E1095 S967 99
¢ EKKNn109432 ¢ 65 O 6 136 1213 ¢+ K10873 ¢54 077657 ¢ KD10976 53 036544
% KKn *E V 6 136 1213 #E4 #K9732 V778657 «D #K863 V3654414
4 D83 & E9854 4 E1053
v KKn7 v732 v 84
+D8 ¢ DKn92 ¢ EKn2
#D7542 *Kn #EKnN105
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
5 16 4¢ V= &T -130 160 00|15 4 3NO-3 48 150 150 1.0 8 10 3NN+1 &3 430 16.0 0.0
11 3 44 O= v7 -620 13.0 3.0|17 3 2vV-3 ] 150 150 10| 5 2 2¢DV-1 #4 200 120 4.0
17 12 44 O= *2 -620 13.0 3.0| 5 2 24 S+1 #A 140 120 40| 9 12 2¢ V-2 aK 200 12.0 4.0
7 10 5¢ V+2  v¥5 -640 100 6.0| 1 11 2v V-1 ¢ A 50 8.0 80|14 16 2¢ V-2 oK 200 12.0 4.0
14 6 44 O+2 &2 -680 80 80| 7 18 3NO-1 a4 50 80 80|13 6 24 S= «Q 110 70 9.0
15 2 64 O= *5 -1430 6.0 10.0|(13 6 2¢ V-1 ] 50 80 80|17 3 laS+l1 #Q 110 7.0 9.0
1 4 6NO+1 vJ -1470 20 140| 9 12 1le V= a] -70 40 120| 1 11 3#S-1 +K -50 2.0 14.0
9 18 6NO+1 &5 -1470 20 140|14 16 2v S-1 A -100 20 140| 7 18 3NS-1 + K -50 2.0 140
13 8 6NO+1 8 -1470 20 140| 8 10 INV+1l &5 -120 00 16.0|15 4 2#S-1 +K -50 2.0 140
7 & Kn432 Bésta kontrakt 8 K6 Bésta kontrakt 9 43 Bésta kontrakt
Syd v32 5v V =-650 Vast vE32 ANT N =430 Nord v EK832 5& N D -3 -500
Alla + EDKn6 Ingen + K9852 ov 49432
#1054 & ¢ v & NT «KD3 & ¢ v & NT #984 & ¢ v & NT
4 K9 4 E75 N8 8282 4 ED95432 4 Kn108 N 108 6 4 10 4Kn75 4 ED982 N8 4543
vKn1097654 v EKD8 S 88282 vKn8 v D9654 S 109 6 4 10 vKn765 v1094 S 845 43
¢72 4943 O5 4 115 9 + D74 ¢ EKn3 O3 46 83 ¢ EK106 ¢ Kn87 O58 8 9 10
&EK »732 vV 5 4 115 9 *8 *64 V 34783 *62 &EK V5879 10
4 D1086 a7 4 K1064
v- v K107 vD
+ K1085 + 106 + D5
#DKn986 #EKn109752 #DKn10753
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
15 11 6v V-1 *A 100 160 00| 5 4 3NN+1 &7 430 159 01| 5 11 34 O-2 vQ 200 13.0 3.0
6 16 3v V+2 42 -200 13.0 3.0|13 10 5#S= aA 400 136 24| 6 2 44 Q-2 vQ 200 13.0 3.0
13 10 3y V+2 ¥3 -200 13.0 30| 9 3 4aV-1 +K 50 103 58| 7 3 44 0-2 vQ 200 13.0 3.0




5 4 4y V+1l &4 -650 50 11.0(15 11 4e V-1 vA 50 103 58|13 16 34 O-2 «Q 200 13.0 3.0
7 12 4y V+1  +A -650 50 11.0( 6 16 5#S-1 LYN -50 46 114|110 18 34 O-1 vQ 100 8.0 8.0
8 18 4v V+1 43 -650 50 11.0( 7 12 5#S-1 a A -50 46 114 9 1 240= vQ -110 50 11.0
9 3 4vV+l 3 -650 50 11.0| 8 18 5#S-1 4 A -50 46 114|115 17 24 O= vQ -110 50 11.0
14 2 49y V+1l ¢33 -650 50 11.0({14 2 34DV= &K -530 01 159(14 4 24 O+1 vQ -140 2.0 14.0
17 1 4y V+1 v3 -650 50 110|17 1 A=/A= 80 80| 8 12 3NS-4 45 -200 0.0 16.0
10 4 KD86 Basta kontrakt 11 s K4 Basta kontrakt 12 4102 Basta kontrakt
Ost v D432 3v O =-140 Syd v ED96 44 V D -2 300 Vast v DKn105 3v N =140
Alla + DKn2 Ingen 49765 NS + EK953
*94 & ¢ v & NT *732 & ¢ v & NT *E5 & ¢ v & NT
aKn7 4E10 N26 364 4DKn72 #9863 N 55 104 7 aKn4  4E987 N7 9988
vEK9 vKn765 S2636 4 v Kn4 v10 S 55 104 7 vK942 v76 S799 838
¢ K875 ¢43 O 107 9 6 8 ¢ EKDKn ¢ 10842 078385 ¢+ D872 ¢ 1064 06 4355
#E875 #KKnl062 V 107 9 6 8 #Kn85  #EK94 V78385 D64  #KKn92 V64355
495432 «E105 « KD653
v 108 v K87532 v E83
¢ E1096 +3 ¢ Kn
«D3 »D106 10873
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 16 14 S+1 YA 110 160 00(16 2 INV-4 v6 200 160 0.0| 5 17 3NN= v7 600 150 1.0
14 4 32V+1l #9 -130 140 20| 6 4 2vS+2  +A 170 110 5.0|10 12 3NS= v4 600 150 1.0
5 11 2NV+1 ¢3 -150 80 80| 8 3 2vN+2 &#A 170 11.0 50| 9 15 2NN+2 v7 180 120 4.0
8 12 2NV+1 3 -150 80 80| 9 15 2vS+2 +A 170 11.0 50|14 11 2NN+1 &2 150 100 6.0
9 1 2NV+1 3 -150 80 80(14 11 3v S+1 +A 170 110 5.0(13 18 2v N+1 &7 140 8.0 8.0
10 18 2NV +1 4K -150 8.0 80|10 12 4¢ V-3 vA 150 6.0 100( 8 3 24 S= v2 110 6.0 10.0
15 17 2NV +1 48 -150 80 80| 7 1 INV-2 v9 100 40 12016 2 1e N+1 v7 90 4.0 12.0
6 2 2NV+2 46 -180 20 140 5 17 3a V= vA -140 10 150 6 4 3NS-1 v4 -100 20 140
7 3 3NV= v3 -600 0.0 16.0(13 18 34 O= *3 -140 10 150 7 1 3NN-2 *2 -200 0.0 16.0
13 » D865 Bésta kontrakt 14 & Kn65 Bésta kontrakt 15 4 ED102 Bésta kontrakt
Nord v 1032 4¢ O =-130 Ost v97 4% S =130 Syd v 987 5# S D -1-200
Alla *- Ingen +D4 NS + EK87
#EKD874 & ¢ v & NT #EKKn765 & ¢ v & NT *87 & ¢ v o NT
4 EKKn74 4103 N9 3547 ~E98 #1043 N 105 5 8 8 4 K9764 453 N 106 3 5 4
v E986 v DKn4 S$93557 v D82 v EKn654 S 105 5 8 8 vDKn2 ¢vEK10543 S 106 3 5 4
+ D63 ¢EKNn9542 O 4 108 8 6 ¢ K92 ¢Kn10875 0O 2 8 7 3 2 ¢ Kn2 ¢ D965 0369738
*6 #52 V 4 108 8 6 #D1043 #- V28732 *K42 *E vV 36 107 9
92 4 KD72 4 Kn8
v K75 v K103 v6
¢ K1087 ¢ E63 +1043
#Kn1093 #982 #DKn109653
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 9 3N+l oT 130 140 20| 8 1 3NS+2 9 460 160 0.0|13 12 4¢DO-2 »Q 300 16.0 0.0
13 2 3#N+1 &5 130 140 20| 5 9 3NN= v4 400 140 20| 2 4 4v0O-1 #Q 50 120 4.0
18 12 44 N= 43 130 140 20|13 2 3vO-2 &2 100 120 40| 6 17 49y O-1 &) 50 120 4.0
14 17 INS+1 «K 120 100 6.0|16 4 Pass 100 6.0| 8 15 4v O-1 #Q 50 12.0 4.0
7 15 3« N= oT 110 70 9.0| 6 11 34 S-1 *2 -50 70 9.0(14 9 3vO-= *Q -140 7.0 9.0
8 1 3&N= 43 110 70 9.0(14 17 3NN-1 v4 -50 70 9.0(16 11 3v O= s -140 70 9.0
10 3 3¢ 0= ) -110 30 13.0({10 3 5#DS-1 +K -100 40 120| 7 5 4v 0= *Q -420 2.0 14.0
16 4 3¢ O= 9 -110 3.0 13.0| 7 15 3NS-3 2 -150 1.0 150(10 1 4vO= *T -420 20 140
6 11 54 N-3 T -300 00 16.0(18 12 3NS-3 48 -150 10 150(18 3 4vO= &T -420 20 140
16 & K64 Bésta kontrakt 17  EKKn105 Bésta kontrakt 18 & Kn4 Bésta kontrakt
Vast vE10 2NTV =-120 Nord vE3 34 N =140 Ost v EKn106 2NT O =-120
ov + K1082 Ingen + Kn54 NS + E98
#Kn1064 & ¢ v & NT #D32 & ¢ v & NT #E952 & ¢ v & NT
4DKn109 4E8 N6 4565 # 983 «764 N9 6897 «EKD8 453 N45 455
v D874 v K2 S6 3555 v1092 vKD5 S96897 v83 v KD542 S45 455
¢ D64 ¢ E9753 079778 ¢ K1093 + EDB86 047 445 ¢ KD765 ¢4 0971878
*83 #ED72 V79778 *K76 #1098 V47445 #KD #Kn10876 V 9 8 8 7 8
47532 «D2 « 109762
v Kn9653 v Kn8764 v 97
¢+ Kn ¢ 72 ¢ Kn1032
#K95 #EKn54 #43
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
18 3 44 V-4 ) 400 160 00| 8 5 3NN= &T 400 150 10| 2 11 3NO-2 v9 100 150 1.0
10 1 3¢ O-2 v9 200 13.0 3.0|10 15 3NN= &T 400 150 10|18 1 3NO-2 a7 100 150 1.0
16 11 3NV-2 +8 200 13.0 3.0| 2 11 3a N+1 +A 170 110 5.0(10 15 24 V-1 vA 50 90 7.0
2 4 2vS-1 *4 50 100 6.0({13 4 24 S+2 +9 170 11.0 50(13 4 3NV-1 &2 50 9.0 7.0
8 15 2¢ O= vJ -90 70 9.0 6 9 24 N+1 +A 140 80 80|14 7 3NV-1 s 50 9.0 7.0
14 9 2¢ O= ¢J -90 70 9.0[18 1 INS+1 T 120 6.0 10.0(16 17 3NV-1 v6 50 90 7.0
13 12 2¢ O+1 &5 -110 40 12.0|16 17 24 N= a4 110 40 120| 6 9 2NV= a) -120 4.0 12.0
7 5 2NO+1 &5 -150 20 140(12 3 3vyN-1 +6 -50 1.0 150(12 3 24 N-4 vK -400 20 140
6 17 2vDS-3 4Q -500 00 16.0({14 7 3NS-1 +9 -50 1.0 150 8 5 3NO+1 46 -430 0.0 16.0
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19 41084 Basta kontrakt 20 & EK7 Basta kontrakt 21 497 Basta kontrakt
Syd v KD873 44 S =420 Vast v73 44 N =620 Nord v E832 34 O =-140
oV + E865 Alla + D972 NS ¢ KKn6
*4 & ¢ v & NT #D985 & ¢ v & NT #10652 & ¢ v & NT
&« KKn72 «D N 4 1110109 # DKn » 86 N8 6 5 108 «KDKn8 & E642 N566 46
v10 v Kn9642 S 4 1110109 vD1052 v E986 S8 6 5 108 v Kn7 v D954 S566 46
+9 ¢ 10743 09 2334 ¢ EK10 ¢ Kn8653 047834 +54 + D872 0867 97
#KD109865 #Kn72 V92334 #Knl1032 #K6 V47834 #KD983 #E V86797
« E9653 # 1095432 #1053
vE5 v KKn4 v K106
¢ KDKn2 *4 + E1093
»E3 *E74 *Kn74
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 3 54 S= vT 450 160 00|13 3 3¢ O-3 aT 300 160 00| 2 9 3NO-3 3 150 16.0 0.0
2 17 44 S= *K 420 11.0 5.0|18 15 3v V-2 oA 200 140 20|10 14 4a4 V-2 vA 100 140 2.0
6 7 44 S= *K 420 11.0 50(|12 1 34S+1 +¢K 170 120 40| 3 1 440-1 *A 50 100 6.0
10 5 44 S= +9 420 11.0 50| 2 17 34 S= +K 140 100 60| 6 8 44 V-1 vA 50 100 6.0
12 1 44 S= vT 420 11.0 50| 4 11 2¢ O-1 49 100 70 9.0[13 11 4a V-1 a7 50 100 6.0
16 9 3¢+ S+1 &K 130 6.0 10.0|10 5 2v V-1 s A 100 70 90|18 5 3NO= +9 -400 6.0 10.0
4 11 38 V= a4 -110 40 120| 6 7 1lvV= & A -80 40 12016 7 44 V= vA -420 4.0 12.0
18 15 44 S-3 vT -150 20 140(16 9 2v V= s A -110 20 140| 4 17 3NO+2 v6 -460 1.0 150
8 14 64DS-2 &K -300 0.0 160 8 14 2v V+1l &A -140 0.0 16.0(12 15 3NO+2 6 -460 1.0 15.0
22 4109 Basta kontrakt 23 432 Basta kontrakt 24 4 Kn10843 Basta kontrakt
Ost v 97 ANT S =430 Syd vD10873 34 V =-140 Vast vD10753 ANT V =-430
ov + EKKn983 Alla + KKn854 Ingen +6
#D62 & ¢ v & NT *Kn & ¢ v & NT *74 & ¢ v & NT
2 D653 4 EK7 N 119 5 6 10 «K54  #ED9876 N6 98 35 » EK5 «D72 N356 53
vK642 ¢Knl10853 S 119 5 6 10 vEK52 v96 S6 9835 vE6 v Kn94 S$35653
+D1052 +76 01386 2 ¢1062 +¢3 06 4497 4987 ¢+ KD43 O 108 6 7 10
*3 #1084 V13862 K75 #10863 V64497 #KD1053 #EKn6 vV 108 6 7 10
& Kn842 «Knl0 » 96
vED v Kn4 v K82
+4 ¢+ ED97 + EKn1052
#EKKN975 #ED942 982
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 8 3NN+3 3 490 160 00| 3 15 2¢ N+1 v9 110 140 20|13 1 5#V-3 +6 150 16.0 0.0
2 9 3NS+1 v4 430 13.0 3.0|13 1 2¢ S+1 vA 110 140 20| 3 15 3NV-1 v3 50 140 2.0
18 5 3NS+1 v4 430 13.0 3.0|18 14 3¢ S= vA 110 140 20|10 6 3NV= v3 -400 12.0 4.0
13 11 3&4S+2 v2 150 100 60| 2 7 4¢S-1 vK -100 9.0 7.0[ 2 7 3NV+l &) -430 10.0 6.0
3 1 24S+2 v6 130 7.0 9.0[(11 17 4¢ N-1 v9 -100 9.0 7.0[ 4 9 3NV+2 &) -460 4.0 12.0
16 7 24 S+2 a5 130 70 90|10 6 340+1 vJ -170 6.0 10.0(11 17 3NV+2 5 -460 4.0 12.0
4 17 3#S= 3 110 30 130| 4 9 340+2 %J -200 40 12012 5 3NV+2 v7 -460 4.0 12.0
12 15 3#S= 3 110 3.0 13.0(12 5 5¢DS-2 vA -500 20 140(16 8 3NV+2 7 -460 4.0 12.0
10 14 3¢ N-1 & A -50 00 16.0(16 8 44 O= *A -620 0.0 16.0|18 14 3NV+2 ¢3 -460 4.0 12.0
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